could cause damage or injury. Read

QDC'BOO Installation Instructions & Incorrect installation or adjustment do rmq kq bq V‘

Door Closer with Drop Plate | and follow the instructions carefully.
PULL SIDE (Regular Arm Installation) DROP PLATE: 1/4-20-L14mm Screws
: . 5 . 1-34 718 = @6.1mm Wood Screws
G H'Si%zt"r 27 YT a44) (22)
| & c—l
} ! 1/4-20-L12mm Screws
I o = — V‘ -
l © ®  8Q00103 ® 6 13’23)2
& C; 21132 Inches (mm)
. o (16.5) Door Opening Dim. A
o A 12, 4116 t0100° | 8 (203)
(38) (103) o
le 7-1116(179) » ) 101°t0 120° | 7 (178)
- Do Not Scale Drawing 121 10180° | 4172 (119)
RIGHT HAND DOOR SHOWN, LEFT HAND OPPOSITE. - Dimensions: inches(mm) °
PUSH SIDE (Top Jamb Installation) DROP PLATE:
Hinge or «— 7179 — > Hinge or - 7(178) —»
¢ Pivot ] ¢ Pivot
« Sd-12 4 o 112
i A 717(38) (103) 12.7)
! = = | —
: ® Poomos@—&
' o
 T— <
[}
O ©
! J. [ 1-34
; «— 5(127) A TV

1/4-20-L14mm Screws
-~ @6.1mm Wood Screws

Inches (mm)
Door Opening Dim. A
- Do Not Scale Drawing -
_1/4-20-L12mm Screws - Dimensions: inches(mm) fo 00 |B-1: 4215}
LEFT HAND DOOR SHOWN, o107 )7 U78)
RIGHT HAND OPPOSITE. 127 o180 | 412 f114

« c >e— D —» - Do Not Scale Drawing

! 112 . : ;
1/4-20-L14mm Screws 12.7) - Dimensions: inches(mm)
-~ @6.1mm Wood Screws il «E »
! A4
— % *xe ]
1/4-20-L12mm Screws . | M@ f
. 4 {
|
F
|
Inches (mm) |
i ¢ STANDARD ARM, HOLD OPEN ARM
Door Opening [ Dim. A Dim.B Dim.C Dim.D Dim. E Dim. F ! % CUSH ARM
|
~ Hinge or
.| 8-5/8 | 2-1/8 [ 9-1/4 ¢ pi
to 100 Pivot
g (219) (54) (235) i 7(178)
o E 101° to 130° 7-1/8 2-1/8 7-3/4 2-3/4 2 7/16 |
Z< (181) (54) (197) (70) (51) (11) : A w12 4 ,
® | 131°t0180°| 5-1/8 | 2-1/8 | 5-3/4 | (28}, (102)
(130) (54) (146) T T s F T S P e
i ‘—ﬁ—‘ Y
I B
ey L; [
|—:| 77©7 '©7 @ @ v
U . r—D—\_ ________
| M “ °
| 20 4Qoo104 °
! A
! o
LEFT HAND DOOR SHOWN, RIGHT HAND OPPOSITE.

DORMA-QDC 300 Series T93415_A https://dhwsupport.dormakaba.com/hc/en-us 08-2021 1




FRANCAIS Instructions d'installation pour QDC-300
séries avec CALE DE FERME-PORTE

!

(s ) L'ajustement ou l'installation incorrect a pu causer

des dommages ou des dommages physiques. Lisez
et suivez les instructions soigneusement.

COTE D'OU 'ON TIRE (Installation du Bras Régulier) CALE DE FERME-PORTE

1/4-20-L14mm Vis

Charniére 5 L. 1-3/4 mw =Gl 0O @6.1mm Vis pour le bois
IQ ou pivot (127) (44.4) (22)
O
: ‘ b 1/4-20-L12mm Vis
i O = == y C
: 6 ® 8Q00103 T) 7 tefs2
& - Pouces (mm)
H S (16.5) Quverture de la porte Dim. A
i A 1-12]. 4-116 -
- "T(38) (103) t0100° | 8 (203)
«—— 7-116(179) — . o 101°t0120° | 7 (178)
- Ne pas dessiner a I'échelle A5 TABD: 7B »
PORTE AVEC LA POIGNEE A DROITE MONTREE, L'OPPOSE DE LA POIGNEE A GAUCHE - Dimensions : Pouces (mm) to a2 (14
COTE D'OU 'ON POUSSE (Installation sur le montant supérieur du cadre de porte) CALE DE FERME-PORTE
Charniére < 7(179 N Charniére < 70178 >
Q ou pivot (79) Q ou pivot (178)
e A ez 4 112 e a1 12
(38) (103) ‘ (12.7) i (38) T “ (12.7)
A ®
i BEC i)
,,,,, _ o _ |
i 8Q00104 —
L N . (R T m —= (7
i i
mo @ R v
! | 1-3/4
. < 5(127) TV 5(127)

1/4-20-L14mm Vis

@6.1mm Vis pour le bois

- Ne pas dessiner a I'échelle
- Dimensions : Pouces (mm)

Pouces (mm)

PORTE AVEC LA POIGNEE A GAUCHE MONTREE,
L'OPPOSE DE LA POIGNEE A DROITE

Quverture de la porte Dim. A
to 100° | 8-1/2  (216)
101° to 120° | 7 (178)
121° t0 180° | 4-1/2  (114)

«——C ——»«— D —»

- Ne pas dessiner a I'échelle

|
1/4-20-L14mm Vis (1121.27) - Dimensions : Pouces (mm)
@6.1mm Vis pour le bois :‘ | < E »
1/4-20-L12mm Vis | ——fx ;‘_;:@ —
- k (
|
i F
|
— Pouces (mm) ! @ BRAS STANDARD
i i i i i i |
dela porte Dim. A Dim.B Dim.C Dim.D Dim. E Dim. F | _— % BRAS CUSH
arniere
10100 | 8-5/8 | 2-1/8 | 9-1/a G oupivot
2 (219 | (54) | (235) i
n< — 7(178) ————»|
<3S | 101°to130°| 7-1M8 | 2-1/8 | 7-3/4 | 2-3/4 2 7/16 [
m'<Z£ (181) (54) (197) (70) (51) (11) [ A 1-1/2 4 .
P 131°t0180° | 5-1/8 | 2-1/8 | 5-3/4 i (38) (102)
(130) | (54) | (146) T e T T Pl
i — 7y
i O 5
] ¢ |
Hi ® ® v
) @ L @ i
1 BV B A
|
' oazn |© 8Q00104 ©
i \© )
I S—s—sss=sm——= LI:J_J ________
PORTE AVEC LA POIGNEE A GAUCHE MONTREE,
L'OPPOSE DE LA POIGNEE A DROITE
DORMA-QDC 300 Series T93415_A https://dhwsupport.dormakaba.com/hc/en-us 08-2021




Instrucciones de instalacién para QDC-300
series con LAMINA DE CONTACTO

ESPANOL

La incorrecta instalacion o el ajuste
incorrecta podria causar dafio o lesion. Lea
y siga las instrucciones cuidadosamente.

LADO DE ESTIRAR (Instalacién Normal del Brazo) LAMINA DE CONTACTO

' ~ 5 . 1-34 718
Bisagra « (27 e (44.4) (22)
| oPivote
‘ £ of .
| i A
: et T —] T K
‘ ® @ 8Q00103 @ @ ot
& & (12)
?) 2132
: 1-172 kT?'t_J (169
i - 1116
" A >3 (103)

e 7-116(179) — »

SE MUESTRA LA PUERTA DE ORIENTACION DERECHA, LA PUERTA DE ORIENTACION IZQUIERDA ES AL REVES

- El Grabado No Esta a Escala
- Dimensiones: Pulgadas (mm)

1/4-20-L14mm Tornillos

@6.1mm Tornillos para la madera

1/4-20-L12mm Tornillos

Pulgadas (mm)
Apertura de la Puerta Dim. A
t0100° | 8 (203)
101° to 120° | 7 (178)
121° to 180° | 4-1/2  (114)

LADO DE EMPUJAR (Instalacién de la Parte Superior del Marco) LAMINA DE CONTACTO

Bisagra ¢

% oPivote Hire) ¢

: 12112 4

i A 717(38) (103)

! L C ~® | 5] EEECESS

| > ® 8Q00103 ® ¢

© _ ) el

. = 2-1/36 .
(51.5) I

wo ® o i

! ” 5(127) — (14'432‘; !

1/4-20-L14mm Tornillos
Lo~ @6.1mm Tomnillos para la madera

Bisagra
o Pivote

«— 7(178) ————»

B o Y
e 5(127) E 1-3/4

- El Grabado No Esta a Escala
- Dimensiones: Pulgadas (mm)

SE MUESTRA LA PUERTA DE ORIENTACION IZQUIERDA,
LA PUERTA DE ORIENTACION DERECHA ES AL REVES

(44.4)
Pulgadas (mm)
Apertura de la Puerta Dim. A
to 100° | 8-1/2  (216)
101° to 120° | 7 (178)
121° t0 180° | 4-1/2  (114)

:‘ 2 c He— D —» - El Grabado No Esta a Escala
1/4-20-L14mm Tornillos (12.7) - Dimensiones: Pulgadas (mm)
~ @6.1mm Tomillos para la madera l‘ <« E »
| \ 4
1/4-20-L12mm Tornillos i {8 %¢ f
. A {
|
CF
|
T, Pulgadas (mm) : @ BRAZO ESTANDAR
ertura de ) ; . ) ) _
‘I)aPuena Dim. A Dim.B Dim.C Dim.D Dim. E Dim.F : % BRAZO ACOLACHADO
.| 8-5/8 2-1/8 9-1/4 Bisagra
oX 101007) a19) (54) (235) QI: o Pivote 3 7(178) R
g% 101° to 130° | 7-1/8 | 2-1/8 | 7-3/4 | 2-3/4 2 7116 i
&5 (181) | (54) | (197) | (7o) | (51) | (11) ! A 2, 4 R
“| 131 10180 | 5718 | 2-1/8 | 5-3/4 ! @) (102
(130) (54) (146) T T T T T T T TT T T ST T T T Ty Y el
I — A
g O .
!"' LL@
i1 [} ® i
It T — @ EL @ -
=~ 1/2 | —— [ SR S
! (] ©
|| (127 8Q00104 o
! e
| | cop——
; i
SE MUESTRA LA PUERTA DlE ORIENTACION IZQUIERDA ,
LA PUERTA DE ORIENTACION DERECHA ES AL REVES
DORMA-QDC 300 Series T93415_A https://dhwsupport.dormakaba.com/hc/en-us 08-2021 3




ENGLISH - QDC-300 DOOR CLOSER ADJUSTMENTS

For assistance or warranty information:

CLOCKWISE FOR Use 4mm Hex Power INCREASE Call 1-800-392-5209 or visit
FULL NUMBERS (+) hW:;lCh For Adsj:sting @ EREASE https://dhwsupport.dormakaba.com/hc/en-us
ot this Adjustment rew N——
4mm
@ Wrench i
COUNTERCLOCKWISE FOR ﬂ:E, __________ :
NEGITIVE NUMBERS (-) . -
POWER ADJUSTMENT CHART ] I ' r_j /@ >
APPLICABLE ‘ [F = -]
DOOR | FULLTURNSOF DOORLEAFWIDTH | APPLICABLE 7
CLOSER | POWERADJUSTING EXTERIOR DOOR BACK CHECK DELAY ACYION LATCH SWEEP
SEZE SCREW INTEROR | NG ouT) WEIGHT Adjusting Valve Adjusting Valve Adjusting Valve  Adjusting Valve
" ) P 33~56 LBS SLOWER INCREASE
1 4 32"(081m) | 28"(0.71m) (15~30 Kg) @
- " v 56~99 LBS
2 2 36"(091m) | 32"(0.81m) (3045 Kg) \ D,ECREASE
" . 99~1431BS
3 0 (PRESET) 42"(1.07m) | 36"(0.91m) (45~55 Kg)
, v 143187 LBS >/
4 +3 48°(1.22m) | 42"(1.07m) (65-85 Ka) pr
p ” 187~264 LBS F
5 +7 54“(1.37m) | 48"(1.22m) (85~120 Kg) \ \ =~
. . 264~330 LBS
6 +1 587(147m) | SA"(.3m) | 4120150 Ka) CLOSING CYCLE OPENING CYCLE

DANS LE SENS DES
AIGUILLES D'UNE MONTRE
POUR LES VALEURS
POSITIVES (+)

©)

AIGUILLES D'UNE MONTRE

DANS LE SENS CONTRAIRE DES

FRANCAIS - QDC-300 AJUSTEMENT DU FERME-PORTE.

Utilisez une clef ~ Puissance =4 AUGMENTATION
a six pans pour Vis @
cet ajustement  D'approche DIMINUTION

Pour de I'aide ou des informations sur la garantie:
Vavillez appeler le 1-800-392-5209 ou visiter
https://dhwsupport.dormakaba.com/hc/en-us

} (-
POUR LES VALEURS _ I ()0 S
NEGATIVE (-) 1 | F = -
TABLEAU D'AJUSTEMENT DE LA PUISSANCE | ‘ / /
TALLE | PLENSTOURs | LARCELRAFFLICABLE OIS OUVERTURE MAXIMALE RALENTISSEMENT ~ ENCLENCHEMENT  BALAYAGE
DE DE VIS DE Valve d'ajustement Valve d'ajustement  Valve d'ajustement Valve d 'ajustement
EXTERIEURE |APPLICABLE
FERME-| REGLAGEDE NTE
PORTE | PUSSANCE | INTERIEURE | OSCILLATION | DE PORTE
DEHORS
PLUS LENT AUGMENTATION
1 -4 32"(0.81m) | 28" (0.71m) ?fgf%f; A
9 -2 36"(0.91m) | 32"(0.81m) fga?stE; =¥
3 |0 (PREREGLEZ) | 42" (1.07m) | 36" (0.01m) | 935143185 A
4 +3 48" (1.22m) | 42"(1.07m) 12‘635“35&35
5 +7 54"(1.37m) | 48" (1.22m) 1(%3% 'sz !
5 T 58" (1.47m) | 54" (1.37m) (21624&313590Ll?gs) CYCLE DE OUVERTURE

EN LA DIRECCIION DE LAS

ESPANOL - QDC-300 AJUSTES DEL CERRADOR DE LA PUERTA

Si desea ayuda o informacién sobre la garantia:
llame al 1-800-392-5209 ou visite

AGUJAS DEL RELOJ PARA Utilice Ia llave Tornillo AUMENTO https://dhwsupport.dormakaba.com/hc/en-us
VER LOS NUMEROS hexagonal para 1 de N
COMPLETOS (+) este ajuste '°«J'US’°e de =% DISMINUCION

ol 4mm uerza

<— |lave
hexagonal

~ @] ——=____T__&.
EN DIRECCION CONTRARIA
A LAS AGUJAS DEL RELOJ ‘ =
PARA VER LOS NUMEROS 0 0 S
NEGATIVOS (-) =

TABLA DE AJUSTE DE FUERZA | / /
TAg"é‘Lm COMmE S L | DELANOUADE PUERTA | APLICABLE |  COMPROBACION TRASERA ACCION RETRASADA TRABA BARRIDO
CERRA-| TORNILLODE EXTERIOR | PESODE LA Valvula de Ajuste Valvula de Ajuste Valvulade Ajuste  Valvula de Ajuste
DOR A'J:gSTE b INTERIOR | OSCILACION | PUERTA
ERZA HACIA FUERA MAS DESPACIO AUMENTO
1 -4 32"(0.81m)| 28"(0.71m) 313g§§OLE; 2
2 -2 36"(0.91m)|  32"(0.81m) f:fg?fs'-fgs)
0 " " 99~143 LBS

3 |PrePROGRAMADO)| 42" (1.07m) [ 36"(0.91m) |45 56 ko)

4 +3 48" (1.22m)|  42"(1.07m) 12‘25*}{?;&55

5 +7 54"(1.37m)| 48" (1.22m) 1(221%% '-K%?

6 +11 58" (1.47m)| 54" (1.37m) (216245‘313500'-}(‘35
DORMA-QDC 300 Series T93415_A https://dhwsupport.dormakaba.com/hc/en-us 08-2021 4





